

605-343-9606 www.albertsonengineering.com

3202 W. Main, Suite C Rapid City, SD 57702

315 N. Main Ave., Suite 200 Sioux Falls, SD 57104

201 S. Monroe St., Suite 203A Winner, SD 57580

CONSTRUCTION CHANGE ORDER NO. 3

Project:

Taylor Ave Street, Sidewalk & Retaining Wall

AEI Project #:

2024-186

Owner:

City of Deadwood

Engineer:

Albertson Engineering Inc.

Contract Date:

October 15, 2024

Date of Issuance:

December 11, 2024

Issued to:

Hoskinson Contracting, 1012 Hwy 50, Gillette, WY 82718

Distribution to:

✓ Owner

✓ Engineer

✓ Contractor

YOU ARE HEREBY DIRECTED TO MAKE THE FOLLOWING CHANGES IN THIS CONTRACT:

1. This change order is an hourly-not-to-exceed amount. The scope of work is to replace a segment of damaged storm sewer from the manhole in the center of the street to the pipe below the City stairs. See attached.

Not valid until signed by both the Owner and Contractor. Signature of the Contractor indicates his/her agreement herewith, including any adjustment in the Contract Sum or Contract Time.

CONTRACT STATUS:

The Original Contract Sum	\$67,346.40
Net Change by Previously Authorized Change Orders	\$ 3,317.88
Contract Sum Prior to This Change Order	\$70,664.30
Maximum HNTE Contract Sum Increase Per This Change Order	\$15,069.87

Maximum New Contract Sum Will Be

\$85,734.17

The Contract Time Will Be as follows: Substantial Completion: January 3, 2025.

Exception: Masonry

Masonry Substantial Completion: January 21, 2024

Note: the change in schedule for the masonry is unrelated to the storm sewer. The City and design team are granting the schedule extension per an unrelated contractor request.

AUTHORIZED SIGNATURES

The persons executing this Agreement hereby represent that they have authorization to sign.

	Gue
Owner (Signature)	Contractor (Signature)
	Seth winself V.P
(Printed name and title)	(Printed name and title)
CITY OF DEADWOOD	HOSKINSON CONTRACTING, INC.
Date	Dec - 12 - 2024 Date
	Soth Linear Shark was a second
Email	Email Seth. winzue hostinson contracting
Jato Sigo	_
Engineer (Signature)	
Jared Schippers, PE, Principal	
(Printed name and title)	
ALBERTSON ENGINEERING INC.	
12/11/2024	
Date	

jared@albertsonengineering.com

Email



(307) 487-8970

CUSTOMER

City of Deadwood

ESTIMATE NO

Change Order 2

DATE

11/22/2024

HOSKINSON REP

Marty Neal

PREPARED BY

Marty Neal

TERMS

Net15

SUMMARY:

Change order 2 to address damaged storm water/update storm water under Taylor Ave. Updated Proposal represents the final costs associated with the change order after the compleation of the added scope of work. Total at the bottom is the amount that will be billed out at the time of the compleation of the 48-52 Taylor ave retaining wall project.

PROPOSAL

48-52 Taylor Ave Storm Water Change Order 2 | 48-52 Taylor Ave, Deadwood, SD 57732

P 1 (605) 343-9606 jared@albertsonengineering.com

QUANTITY	DESCRIPTION	UNIT PRICE	AMOUNT
1	Materails (Will not exceed value provided)	\$9,270.93	\$9,270.93
42	Labor Rate (Per Man hour)	\$100.00	\$4,200.00
1	Skid Steer	\$400.00	\$400.00
1	Excavator	\$550.00	\$550.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
		SUBTOTAL	\$14,420.93
THIS PROPOSAL INCL	UDES THE CONDITIONS NOTED:		
We appreciate your bu credit card.	usiness! Please note we take check, debit card, and	EXCISE TAX	\$648.94
		TOTAL	\$15,069.87

SIGN BELOW TO ACCEPT QUOTE:

AUTHORIZED REP

DATE



(307) 487-8970

CUSTOMER

City of Deadwood

ESTIMATE NO

Change Order 2

DATE

11/22/2024

HOSKINSON REP

Marty Neal

PREPARED BY

Marty Neal

TERMS

Net15

SUMMARY:

Change order 2 to address damaged storm water/update storm water under Taylor Ave. Updated Proposal represents the final costs associated with the change order after the compleation of the added scope of work. Total at the bottom is the amount that will be billed out at the time of the compleation of the 48-52 Taylor ave retaining wall project.

PROPOSAL

48-52 Taylor Ave Storm Water Change Order 2 | 48-52 Taylor Ave, Deadwood, SD 57732

P 1 (605) 343-9606 jared@albertsonengineering.com

QUANTITY	DESCRIPTION	UNIT PRICE	AMOUNT
42	Labor Rate (Per Man hour)	\$100.00	\$4,200.00
1	Skid Steer	\$400.00	\$400.00
1	Excavator	\$550.00	\$550.00
50	2x10 SCH 40 PVC PIPE PE	\$1.65	\$82.50
18	2 PVC DWV COUPLING	\$1.35	\$24.30
1	15 GASKETED 22 1/2 ELL	\$1,358.29	\$1,358.29
1	8 OZ FILTER FABRIC	\$1,504.37	\$1,504.37
100	4 x 100 PERF CORR SOCKED TUBE/CULVERT	\$1.56	\$156.00
12	4 INTERNAL COUPLING	\$6.74	\$80.88
5	4x4 SNAP TEE	\$14.09	\$70.45
14	15" SDR-35 SEWER PIPE RT	\$49.82	\$697.48
1	15 GASKETED 45 ELL	\$1,281.86	\$1,281.86
1	TIE WIRE	\$142.60	\$142.60
1	STRINGLINER	\$32.20	\$32.20
4	SHACKLES	\$78.00	\$312.00
3	TRUST BLOCK	\$800.00	\$2,400.00
20	FLAT HOOK RATCHET	\$28.25	\$565.00
2	CAUTION TAPE	\$21.85	\$43.70
6	5 GALLON OIL MIX	\$4.26	\$25.56
1	ROAD STONE W/ FREIGHT	\$290.94	\$290.94
1	3/4 CLEAN LIMESTONE W/ FREIGHT	\$202.80	\$202.80
			\$0.00
			\$0.00
*			\$0.00
			\$0.00
			\$0.00
		SUBTOTAL	\$14,420.93
THIS PROPOSAL INCLU	IDES THE CONDITIONS NOTED:		
We appreciate your busin credit card.	ess! Please note we take check, debit card, and	EXCISE TAX	\$648.94
		TOTAL	\$15,069.87

SIGN BELOW TO ACCEPT QUOTE:

AUTHORIZED REP

DATE